N = 0l & At & Ml A

20228 = 20l A LB H M=EEAE
2A: MEEAED
MM S S& A48 20l
e M= 243 X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HNEeEdEAE 19,057,271 15,041,988 4,015,283
= 15,098
g 3,941,000
Jl 417,586
= 618,611
= 14,064,976
HEss Ss Hds 2ol 15,084,521 11,366,926 3,717,595
= 1,785
g 3,941,000
J| 252,679
& 27,653
= 10,861,404
M= #2435 X& 2,172,185 2,193,154 N 20,969
J| 208,579
o 21,753
= 1,941,853
HM=U3g & ALK& 130,900 107,900 23,000
201 et 7,400 7,400 0
01 AFR 2t 2| bl 7,400 7,400 0
OHMSEHAI 2 2372 S 5,000,000& 5,000
OMESHEA 42 =& E2X S|
8,000 x3H 100 2,400
202 04| 4,800 4,800 0
01 2Ll 4,800 4,800 0
O2A= HsUal A &2 ¥ L ARt
80,000& x5 12 4,800
203 SR F & 2,500 2,500 0
03 AIZH =& 25X H| 2,500 2,500 0
OMSEHAI AIZ =& 2,500,000& 2,500
301 et A =2 7,200 7,200 0
09 HALAHIXIE 2 7,200 7,200 0
O3 MEU3 2N B4
60,000& 30 43| 7,200
307 gizto| A 109,000 86,000 23,000
02 QIZIA AAIE E X 40,000 25,000 15,000
OsdHE AU d8FZ2 HEAME IS
25,000,000 25,000
OtdZH=z AEZ=4O0] 15,000,000& 15,000
04 SIZ2HSHAAISHE E X 69,000 61,000 8,000
Od3dY = . =5t sed=sUs =8
7,000,000& *13] 7,000
OgtxZHsa T MEsla &4
1,000,000& 25 = 25,000
OMEH=SAIE AHEXSE 20,000,000 13| 20,000




A MEsFaED
Hu: WSS S8 AL 20
el s #4438 X CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ok ZoHel AHolE=Us &d
2,000,000& x13l 2,000
O T MaHsUz =d
15,000, 000& 13| 15,000
H=sHH XA 166,240 189,600 A 23,360
307 gl2tol & 166,240 189,600 A 23,360
03 QIZtHNHE2HEHEX 166,240 189,600 A 23,360
OgtLdZH=a A= 2948l 166,240,000& 166,240
HEAMEMNSXEX BHX(2SXA) 148,985 146, 160 2,825
J| 74,493
s 74,492
307 glz2+ol & 148,985 146, 160 2,825
J| 74,493
s 74,492
02 It M AHE X 148,985 146, 160 2,825
OJIgEx=Ad 148,985
—0HEd NsEs N
2,470,100 x5H 123 148,206
J| 74,103
s 74,103
- Nz&s BEgx 12,980 x5H x 123 779
J| 390
e 389
UBTMET S X (B2SXH) 268,173 263,088 5,085
Jl| 134,086
s 134,087
307 glz2tol & 268,173 263,088 5,085
Jl| 134,086
s 134,087
02 It M AHE L 268,173 263,088 5,085
OJISExAY 268,173
—MYUN MEBUNSXNA X
2,470,100 «9H «12& 266,771
J| 133,385
s 133,386
- E&gs BEgx 12,9803 x9H 123 1,402
J| 701
s 701
MEHESAEAN 25 NH 141,668 0 141,668
307 gl2tol & 141,668 0 141,668
02 IS AHEE L 141,668 0 141,668
OMENsENEX g5 XA 141,668
— 238Xl 100,000& = 14H 128 16,800
— a2l 140,000 14 » 128 23,520
— WS EX 150,000& «14H 128 25,200




A MEsFaED
M M8 S8 A28 =20
2 Mg 243 XN CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-5 32,975,000& 32,975
—dnN0= 2,083,770 x14H x 13| 29,173
—GZE403 500,000& x14H %23 14,000
METS WA 2H(ZU|) 9,660 9,660 0
= 2,898
e 6,762
307 glz2+ol & 9,660 9,660 0
< 2,898
s 6,762
02 QB HUANFEE 9,660 9,660 0
OEHIEX=AY 9,660
—MENSWA 2Y(1204) 9,660,000 9,660
= 2,898
e 6,762
ZoHelxs gs XNE(=Hl) 3,330 3,546 N216
< 1,665
i 1,665
307 glz2tol & 3,330 3,546 A216
< 1,665
s 1,665
02 It HAMHEE 3,330 3,546 A216
OZHEx= AL 3,330
— e M=Esotel XA
1,110,000 *321 = Otel 3,330
< 1,665
[ia 1,665
MEHs ZT2)H 29 (<4Hl) 7,300 7,300 0
< 2,190
[ia 5,110
307 21201 A 7,300 7,300 0
< 2,190
i 5,110
02 QB LAANHEX 7,300 7,300 0
OEHIEXZAY 7,300
—dEXs Z2O0d & 7,300,000& 7,300
< 2,190
[ia 5,110
ZUMSUE 100,000 100,000 0
307 glz2+ol & 100,000 100,000 0
04 QIZFHALAIH E = 100,000 100,000 0
O=2H=slz 100,000, 000& 12| 100,000
SOH=sHE 240,000 240,000 0
307 21201 A 240,000 240,000 0
04 QIZFHALAIH B & 240,000 240,000 0




A MEsFaED
Hu: WSS S8 AL 20
el s #4438 X CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZgx=tHa =& XI& 240,000,000 *13] 240,000
MEHsUHEA N2 120,000 120,000 0
307 glz2+ol & 120,000 120,000 0
04 QIZFHALAIH B = 120,000 120,000 0
OZaEr dEXNsUH=EE It XN&E
120,000, 000& =13l 120,000
Hz4a Hs 2435t 189,100 208,100 A 19,000
301 LEEAZ 2,100 2,100 0
09 HALAHIX RS 2,100 2,100 0
OEt AlI27 AOIE=ZE3E =z 2ASUa It
2,100,000& 2,100
307 glz2+ol & 187,000 184,000 3,000
04 DI2HHALAISE E X 187,000 184,000 3,000
O &t ANoIESHE 10,000, 000& 13| 10,000
OLQHOEEUS (BLF =23l)
11,000,000& =13l 11,000
OLQHOIEEU (SHUS) 22,000,000 22,000
OLoNetREZZHII(E3EE, EFAIZ O
3| &) 12,000, 000& *13] 12,000
okeolNer2e==dial(SHUal)
12,000, 000& 12,000
OgtdZ=tf MIA=Z=CHal 10,000,000 *13] 10,000
Ot =3 & d=20ct2Et =Zia
40,000,000& =12 40,000
O=2&cltf d42Xd= d=2 AoESUH
70,000,000& =13l 70,000
StHHE ¥ R dE=Ed 28,000 28,000 0
307 glz2tol & 28,000 28,000 0
02 IZtE M AHE X 28,000 28,000 0
OBRUE L S+u4 HUSA
28,000,000& 28,000
gAZH=3 2 HIE HMESHH 4 55,000 55,000 0
307 glz2tol & 55,000 55,000 0
04 DI2HHALALSE E X 55,000 55,000 0
OgtdzZH=s 2 S3ld MSAN N2
1,000,000& «25& = 25,000
OJdHH s e 84 X
2,000,000& 158 = 30,000
Scdlgot =28+ =4 15,000 15,000 0
307 2201 A 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0




M MsdEAEN
M JRe S AL 20
“#e ds 243 XA (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Ogdztl =2 8w &8 S2U3
15,000,000& *13] 15,000
=T 3 15,000 15,000 0
307 212t01 & 15,000 15,000 0
04 DIZFSHAIAIRI 2 = 15,000 15,000 0
Ot == 3l 15,000,000& *13] 15,000
=&MU 20,000 20,000 0
307 QI2t0| ™ 20,000 20,000 0
04 QIZHSHAFAIE 2 X 20,000 20,000 0
OgdZat 32U 20,000,000& *13] 20,000
=203 15,000 15,000 0
307 212t0| & 15,000 15,000 0]
04 QI2FSHALAIE B = 15,000 15,000 0
OosgtdZtl 32U 3 15,000,000 *13] 15,000
MZHLALGSE 20,000 20,000 0
307 QI2t0| M 20,000 20,000 0
04 DIZHEHAFA I 2 X 20,000 20,000 0
OSdeotE g2t &= HLUAUE
20,000,000& *13] 20,000
=0l MEUS 15,000 15,000 0
307 QI2t0| M 15,000 15,000 0
04 QI2SHALAIE E &= 15,000 15,000 0
OF=4580] Z2UNEUI 15,000,000& *13] 15,000
=203 20,000 20,000 0
307 QI2t0| ™ 20,000 20,000 0
04 DIZHSHAFAIRE 2 X 20,000 20,000 0
OgdZtl =2 28 52U 3
20,000,000& *13] 20,000
= A2HI| 03 12,500 12,500 0
307 QI2t0| M 12,500 12,500 0
04 QIZHSHALAIE B2 X 12,500 12,500 0
O=AHZ2ZI|U 3 12,500,000 *13] 12,500
EHAE HaE 90,000 182,300 AN 92,300
307 212t01 & 90,000 182,300 AN 92,300
04 QIZ2HSHAFAIRE 2 X 90,000 182,300 A 92,300
OgdZatl AT SOt
20,000,000& *13] 20,000
O3YHAT SHotE 3 70,000,000& *13] 70,000
BHEQIE 3 15,000 15,000 0




SN HSHAAD
g M=sS S8 AY
g2l M= 243 A fEH)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
307 glz2tol & 15,000 15,000 0
04 212t AL 15,000 15,000 0
Ozt s  15,000,000& 13| 15,000
st=4g HLUA = dl) 80,000 80,000 0
< 10,000
i 70,000
307 glz2+ol & 80,000 80,000 0
< 10,000
i 70,000
04 BI2FSH AL 80,000 80,000 0
O&HlE 80,000
— &t= HiLA AWM SFksl
80,000,000& =12l 80,000
< 10,000
s 70,000
=T 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 BI2F2H AL 10,000 10,000 0
Oogdz =t = |44 72U
10,000,000& =13l 10,000
=2S03 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 212+ AL 10,000 10,000 0
OHE & 2=0=a 5,000,000 5,000
ONEZ HdH =03
5,000,000& 5,000
Hso |4 80,000 75,000 5,000
307 21201 A 80,000 75,000 5,000
02 212tz &t 20,000 25,000 25,000
Okl d = 5,000,000& 5,000
ogn=EH 24 15,000, 000& 15,000
04 2I2F2H AL 60,000 50,000 10,000
ouMg =02l 60,000,000& 60,000
TS APEHH & =0t0t 120,000 120,000 0
< 5,000
s 115,000
307 gl2tol & 120,000 120,000 0
< 5,000
s 115,000
04 DIZHHALALSE E X 120,000 120,000 0
OZHIEx= AL 120,000
— S AEEH A SCHal 120,000,000 14 120,000




A MEsFaED
Hu: WSS S8 AL 20
el M 243 XN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 5,000
s 115,000
NEAUE 11,329 0 11,329
307 gl2tol & 11,329 0 11,329
04 DIZHHALALSE E X 11,329 0 11,329
OgtdZtf Helol WHAAB0IZ Hal
11,329,000& * 13| 11,329
EEE 15,000 0 15,000
307 21201 A 15,000 0 15,000
04 DIZHHALALSE E X 15,000 0 15,000
ogg=z==tl 203 15,000, 000& * 13| 15,000
M= A& ZHl 11,264,537 7,600,633 3,663,904
s 3,941,000
s 7,323,537
HsAE &5 2 &l 1,539,872 1,652,361 A 112,489
201 £B-2dH| 14,400 14,400 0
02 =224l 14,400 14,400 0
02223 £ HMA(SEMSAIE < 3Hi) 14,400
—dIIR=a 300,000& *400 & x128 14,400
401 AIEHI L 201 1,525,472 1,635,868 A 110,396
01 A& Bl 1,520,000 1,630,000 110,000
OZZ3HESAE RANES @ AR2 =4
15,000, 0003 *109H £~ 150,000
OSHANSANERANES & AREH
10,000, 0003 *109H £~ 100,000
obtg 4078 23217 &%
15,000, 0003 209K 2~ 300,000
Obtg 472 23J17 HIIHEAMEEX
5,000,000 *200H 2~ 100,000
OX=2H s 22elARL & D A
220,000,000& =14 220,000
OHLSAUANIIEESZ LAY
150,000, 000& * 14 150,000
OUSHHUAZ AHLI ALY 500,000
—dANEHESA 30,000,000& =14l 30,000
— QIHE X ALY 470,000,000 =14 470,000
03 AIE 2 0HHI 5,472 5,868 A 396
OA& = HHI 1,520,000,000& *0.36% 5,472
YA T3 EAH (KA 1,304,680 1,053,780 250,900
401 Al BIZ 201 8] 1,304,680 1,053,780 250,900
01 A& HI 1,300,000 1,050,000 250,000
OAZXIE FEFXEFXLEAY 1,300,000




FAM: HsdEAEN
Hu: Jg2 S8 ALE 20
S MFAE FH (9 ® =)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—oZmU, zEg £ AX
1,300,000, 000& 14 1,300,000
03 Al 2 THHI 4,680 3,780 900
OAE =R HHI 1,300,000, 000& *0.36% 4,680
METSSA TSN (MY MENS3E =4) 200,000 0 200,000
401 Al B2 28I 200,000 0 200,000
01 A& HI 198,570 0 198,570
OM&dENSSAZLEAY 198,570
—adAEHNEA 198,570, 000& 14 198,570
03 A& SR THHI 1,430 0 1,430
OAIZ 24l 198,570,000& *0.72% 1,430
MEHNSTAZLXNA(BLAZEDIT =4 26H) 2,000,000 800,000 1,200,000
s 2,000,000
401 AIEBIZ 201 8] 2,000,000 800,000 1,200,000
s 2,000,000
01 A& HI 1,700,000 800,000 900,000
O E3 A ALY 1,700,000
—SYAT=mMT TS AR (2EHH)
1,700,000, 000& 14 1,700,000
s 1,700,000
02 Zeltl 300,000 0 300,000
OZSZAHAEY 300,000
—EYATXT T ZHA(2SHH)
300,000,000 =14l 300,000
s 300,000
MENSSAZTLENA(+-SHIZHIESEHE MY 1,500,000 0 1,500,000
)
s 616,000
s 884,000
T AEHIZXEUY 1,500,000 0 1,500,000
s 616,000
s 884,000
01 A& HI 1,454,762 0 1,454,762
OS2 AHAMY 1,454,762
—=SHIEZHOESEAHE AL
1,454,762,000& 14 1,454,762
s 616,000
s 838,762
02 Zeltl 40,000 0 40,000
OZ=2AHAEY 40,000
—+SHIZHOESHHBE MY
40,000,000& =14 40,000
03 AlZ 2 THHI 5,238 0 5,238
OS2 AHAMY 5,238




FAM: HsdEAEN
M M8 S8 A28 =20
S MFAE FH (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
TS ERAENESEARNG
1,454,762,000& *0.36% 5,238
MEHSSIAZLEXNA (A EZLEAMY) 1,310,000 0 1,310,000
s 760,000
[ia 550,000
401 Al& I 28I 1,310,000 0 1,310,000
s 760,000
s 550,000
01 A& HI 1,255,480 0 1,255,480
OZE3SAHA Y 1,255,480
— ==X 8AY 1,255,480,000& 14 1,255,480
s 760,000
s 495,480
02 Zeltl 50,000 0 50,000
O E3AH ALY 50,000
— ==X 8 ALY 50,000,000& =14 50,000
03 Al =20l 4,520 0 4,520
O E3 A ALY 4,520
— =38 A
1,255,480,000& *0.36% 4,520
MEYESSIA XA (Y MEHSIE £4) 3,409,985 50,540 3,359,445
s 565,000
= 2,844,985
401 Al& Bl 28I 3,409,985 50,540 3,359,445
s 565,000
= 2,844,985
01 A& HI 3,350,937 50,000 3,300,937
O =3l A A 3,350,937
— 22X 0yl 2,200,000,000& 14 2,200,000
— oo MENSIE ZHALY
1,150,937,000& 14 1,150,937
s 565,000
s 585,937
02 Zeltl 50,000 0 50,000
OZSZAHAEY 50,000
oto] MEXSIE ZEAY
50,000,000& =14l 50,000
03 Al 20 HI 9,048 540 8,508
O E3 A ALY 9,048
—oto MEHSBY ZAAY
3,350,937,000& *0.27% 9,048
HMEAE 2F 1,647,799 1,573,139 74,660
= 1,785
| 44,100
S 5,900




M MEEAEY
g =S Sg 228 =g

22 MSAE 29 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 1,596,014
AEZAM0IEA X 63,000 34,800 28,200
J| 44,100
< 5,670
s 13,230
301 LEEXZ 63,000 34,800 28,200
J| 44,100
< 5,670
s 13,230
01 MEI2EZE 405z 63,000 34,800 28,200
OJIgEx=Ad 63,000
—AEX ZE 0EH ALY
63,000,000 =14l 63,000
J| 44,100
= 5,670
= 13,230
ZOHQ AEZEAXNOIEA XA 2,551 0 2,551
= 1,785
< 230
[ia 536
301 LA F 2,551 0 2,551
= 1,785
< 230
[ 536
01 MEIBEE 263 2,551 0 2,551
O=HIEXZ ALY 2,551
— 0 AEZ=AMOSH XA
2,551,000 » 14! 2,551
= 1,785
< 230
s 536
32228 2% N& 68,000 40,000 28,000
307 gl2tol & 68,000 40,000 28,000
03 QIZtHNHE2IEHEX 68,000 40,000 28,000
OSSAZ=28 29 XA (XA)
68,000,000 68,000
SSAEZXESY dFed A 30,000 30,000 0
307 21201 A 30,000 30,000 0
03 A EES2LHIES 30,000 30,000 0
OJIsEx=AMd 30,000
—gYAnx3Y ¥HOY NA(2|2L3)
2,500,000& 2 1200 & «50% 30,000
SotH dXled RN 80,000 80,000 0
307 gl & 80,000 80,000 0

04 RIZFHALAIH 2 = 80,000 80,000 0




A MEedEA~EN
M JRe S AL 20
Sl MSAE 29 (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OsoltH 8XEdE SXXE 80,000,000 14! 80,000
H=EAlE 2922 344,260 389, 322 N45,062
101 2121 4| 28,834 28,412 422
04 JIZtHI22XNSE S 28,834 28,412 422
ONSAE SHHH(SE2sE 2 9HA) 28,834
— & 2el o2 73,280& 4% x30 8,794
~HSAL NERY AR (ZEESH, &
IXM3 E) 167,000& x4 30 20,040
201 et A | 262,956 211,440 51,516
01 At 22l ] 38,860 19,840 19,020
Ogst2H| 38,860
—HJAIZE 2E= 150,000& 1 »23| 300
HNEXNZXH 222 200,000 x5 x23| 2,000
—gaed 225 200,000& x1H x23| 400
— O3 2F= 50,000& *8H x23] 800
—SI&A =S (FEX 2580 5)2L
200,000 * 120 A *63] 14,400
—axz NS(gers2 H40))
50,000& =20 12& 1,200
—oAx2 NS(ALHS2 IPTV)
30,000 x12& 360
— 201 22 (LV2MSsSH AZTX1}I3)
250,000 *200 2~ x12& 6,000
—HMSAE JINHFL 500,000 x5& *x23| 5,000
— 30 M 60,000& «120H x43] 2,880
—MSAE HEEF 2 100,000& 205 2,000
—MyIIsE 7 2,000& *5000H 1,000
—SZ2HSAE SES2A2ANAE RINES S
S 480,000 x4 & 1,920
—IJIEZH =42 50,000& x12& 600
02 33249l 224,096 191,600 32,496
03322 ¢ MA 177,200
- &3 157,800
sg2sd 1,700,000& =12& 20,400
LSAs2 1,800,000& ~12& 21,600
Aot =2 700,000 x12& 8,400
MEHS2(HLAR =313
1,000,000 *3M A~ x12& 36,000
R 1,000,000& ~12& 12,000
cERG 2 800,000& ~12& 9,600
SFANOIESE 350,000& 128 4,200
SAIH(SHEH) 100,000& *12& 1,200
E=E32H 100,000& =128 1,200




FAM: HsdEAEN
M M8 S8 A28 =20
22 MSAE 29
SA - ZE-B(EA) - NRAY - B S il &t o il
-dEE E2E 1,000,000& »12& 12,000
AZXMI(2E4,IIES)
1,800,000& »12& 21,600
gunsesm ATyay
500,000& »12& 6,000
AEXXTE 5 JtSE  300,000& 128 3,600
—axEe3 14,400
SE2sE 700,000& 123 8,400
HAM=s2 400,000& x12& 4,800
M= 100,000& =122 1,200
— 88X ot a2
5,000,000& =14 5,000
Od =zl 6,600
—SE) ¢ 2R
1,500 *20L*20 2= x90 Y 5,400
— ORI RR(ESR) 1,500& *800L 1,200
OAl& &8l R Xl 30,296
—AYNHHAANLELEH 2 12,096
I2Hs2 168,000& *123] 2,016
A =s2 168,000& *123] 2,016
SEHOEZEH 168,000& *123] 2,016
dEs E2F 168,000& * 123 2,016
- A= 168,000& =123/ 2,016
-HEEE 168,000& *123] 2,016
—dI|erd AL HE =2 18,200
I2H=s2 500,000& *4= 2| 2,000
Sg2sd 500,000& *x4=2 | 2,000
HEHESSE 500,000& *4= | 2,000
A =s2 500,000& 4= | 2,000
- A= T3 (500kw) 450,000 123 5,400
SYI| HEFEY EdE(dLdHs2 M=
cF) 200,000 x20H & %122 4,800
OMSAE 272 =4 5,000,000 *20H 2 10,000
206 M= Hl 12,470 12,470
01 =8l 12,470 12,470
ogd & A=sH & 60,0003 130 A *43] 3,120
OoxCi2el gl (5825 2 3H4)
4,000 5002+ 13| 2,000
OXCl&el LHFL(TE2SE 2 30D)
350,000& «15CH *13] 5,250
OXCl el sLFU(TESSE 2 30MD)
5,000& 60 #33| 900
OXCl&el gL (SEg2sE 2 30L)
10,000& *60 L 23] 1,200




M MEEAEY
3 Mx5s S AdAHs =z
©?el HsAE 2 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEBI L 2CHEI 30,000 67,000 A 37,000
01 A& dl 30,000 67,000 A37,000
O3ZANHEE FIIQHF S (ZLSST, 1
2.9 5,000, 000& *23] 10,000
OMH=3Z& HLULAZ CCTV & X ALY
2,000,000& = 10CH 20,000
405 At&tE S HI 10,000 20,000 210,000
01 &L =S FH=H 10,000 20,000 A 10,000
OMsAE 28 23 7Y 10,000, 000& * 14! 10,000
SA=MFUEH 222 732,741 682,765 49,976
101 @128l 253,211 202,835 50,376
04 DIt Z22XsE+ 253,211 202,835 50,376
OZclI A (U, E AL 173,018
—Jl=2 73,2803 x5E +2502 91,600
- F5=+9 73,2803 x5 522 19,053
b ELE
160 «5F «24 Al 2H+ 128  150% 19,786
- 522 73,2803 *6H 10 «150% 5,496
— X4 73,2803 x5H 152 5,496
—E&= 141,431,000& «1/12& 11,786
—4AEEg= 141,431,000& *14% 19,801
O3 43,260
—Jl2= 15,000 x4 «14 Al 2H+502= 42,000
—NE MHEE 42,000,000 *3% 1,260
O=g LA 36,933
—Jl=a 80,0003 x1H 2252 18,000
— M e =g 500,000& 9 4,500
—-ds5=8 200,000& 98 1,800
—F=i==d 80,000& 362 2,880
—AN2AZ2+E
10,0003 »1H 12 A1 2H+90H & »150% 1,620
— X4 80,0003 92! 720
=] 29,520,000& »1/9& 3,280
—4AEE= 29,520,000& *14% 4,133
201 fEt2E | 376,380 373,380 3,000
01 At 2t 2l bl 53,830 54,930 A 1,100
Ogets=ZH| 53,830
— SAJ X 280,000& =12& 3,360
— &0 X 60,000 +6CH =128 4,320
—FAgs Az 10,000 =150 x12& 1,800
— sz T2 KB Y
500,000& =12& 6,000
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